H & 0l & AHS B Ml A

S SAITHA D
Hu: ARPIIBHAlE SE(ZEXLX
SHSl: MRIEHR] ES(ZYMWLALY

(BLir="jrwi)

M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
CAITHAE I 45,601,683 40,194,700 5,406,983
=2 923,700 923,500 200
z2 5,926,000 4,416,020 1,509,980
[ 1,341,980 1,022,004 319,976
= 40,000 0 40,000
= 37,370,003 33,833,176 3,536,827
ARAD|BHAIE BHE (S EL X SN/ AT ) 3,318,910 3,312,160 6,750
AACHT] T (SYNLAILSLEIH) 3,308,910 3,302,160 6,750
S AUBARA K] LAY 3,308,910 3,302,160 6,750
401 Al&HI2L 20 2,908,910 3,302,160 393,250
01 Al&HI 2,900,000 3,300,000 400,000
ORAe ZAAMY
2,600,000,0002 x 14! 2,600,000 3,000,000 400,000
03 AIZ=20HYI 8,910 2,160 6,750
OR2AE ZAAIY AIL2UH
3,300,000, 00024 %0 27% 8,910 2,160 6,750
403 MR SHHSXHE01™ 400,000 0 400,000
02 BI| 2SS =X EF ALY 400,000 0 400,000
OFYUBAACHR] BAAD QEFAIH|
400,000,000 * 14! 400,000 0 400,000
CAHE 2(RELRISNL/XSLCAl) 10, 159,664 8,649,664 1,510,000
= 40,000 0 40,000
2 10,119,664 8,649,664 1,470,000
SAAEA 9,854,664 8,344,664 1,510,000
= 40,000 0 40,000
= 9,814,664 8,344,664 1,470,000
CAHECR A 9,021,280 7,751,280 1,270,000
401 AlEHI2 20 9,020,000 7,750,000 1,270,000
01 Al&ZHI 9,020,000 7,250,000 1,770,000
O™ TAHECR2(AR2-60SH) WA
o 0 300,000 300,000
098 CTAHECR(E20-25H) STXT
AHZE~ZHAA2]) 700,000,000 % 14! 700,000 400,000 300,000
ORY TAHECZ(AR1-101EH) HEZA
450,000,000+ 14! 450,000 200,000 250,000
02 ZAHEZ2(Z22-554) MEA(2
=) 100,000,000 14! 100,000 0 100,000
O2d ZAHECZ(ER2-554)I0t24 Al
T Ar 40,000,000 % 14! 40,000 0 40,000
098 TAHECZ DIX=SEA BA2
200,000,000 *14] 200,000 0 200,000
O TAHECZ(BR21-75H ) LAY
500,000,000 x 14! 500,000 0 500,000
O2gg SYAHE ST URZ AL
g9 60,000,0002x 14! 60,000 0 60,000




M SAIH A
M CAHE Z2e(RELXNGNL/TLSLEA)

el SAIHEAY (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
O89% HAEZ HEIMSSAL AAIEN
&9 20,000,000& » 14 20,000 0 20,000
ORE ZAAHEEZ2(A22-10354) HEAIY
SAa| 600,000,000 * 14! 600,000 0 600,000
02 22l 0 500,000 500,000
O2d SANEEZ(S21-78H) HEAMS
A 2e| 9| o0& 0 500,000 A500,000
CAHEAIEE FA2 531,224 291,224 240,000
= 40,000 0 40,000
= 491,224 291,224 200,000
401 AlEBIYL S THYI 531,224 291,224 240,000
= 40,000 0 40,000
= 491,224 291,224 200,000
01 Al&HI 530,000 290,000 240,000
O2gz TAA=EAE =SR2
300,000,000 x14] 300,000 100,000 200,000
ORY A2 (NS-ES) 222 &
A 20,000,000 * 14! 20,000 0 20,000
= 20,000 0 20,000
2 ZANHEEZ(ES-88) T2 &
MY 20,000,000 * 14! 20,000 0 20,000
= 20,000 0 20,000
SAZel L N (EL XML /KBLTAI) 5,880,198 2,363,274 3,516,924
= 2,657,000 1,147,020 1,509,980
(= 531,000 229,404 301,596
s 2,692,198 986,850 1,705,348
CAITHAEALS 5,880,198 2,363,274 3,516,924
= 2,657,000 1,147,020 1,509,980
< 531,000 229,404 301,596
= 2,692,198 986,850 1,705,348
AT =EAE 454,047 446,047 8,000
201 LEH2 | 53,040 45,040 8,000
01 At22t2l] 28,440 25,440 3,000
OEAIMY =EAY MHE+E
100,000 *3A12+*303] 9,000 6,000 3,000
2 35234l 14,600 9,600 5,000
O(ADZAITHEE X L H3|H]
5,000,000& *14] 5,000 0 5,000
CAIHA O AFS 80,000 0 80,000
206 =4I 10,000 0 10,000
01 M= HI 10,000 0 10,000
ousg32 e 7Y
10,000,000 * 14 10,000 0 10,000
405 THAHFESHI 70,000 0 70,000
01 TR ESF SHI 70,000 0 70,000




2A:
PSER
o e

el

S AIRH A4 D

SAIBE] 2 O (BEL XN /K

SAITHAAS

H
=

SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
SCEPEIEEED
40,000, 000%4+14! 40,000 0 40,000
OFUXT FOUNFZ 22 7
30,000,00024+14] 30,000 0 30,000
MEXT AR AL 888,200 375,000 513,200
= 225,000 225,000 0
= 45,000 45,000 0
2 618,200 105,000 513,200
307 SI2H0IH 10,000 0 10,000
2 6,000 0 6,000
= 800 0 800
= 3,200 0 3,200
(2 BIRIZ A A B E 10,000 0 10,000
ONEXT TATHAY FoIBDA
10,000,002 14! 0,000 0 10,000
2 6,000 0 6,000
= 800 0 800
= 3,200 0 3,200
401 AlEEI L S OHE] 788,470 285,270 503,200
2 219,000 225,000 £6,000
= 14,200 15,000 800
= 555,270 45,270 510,000
01 Al&tt] 788,470 285,270 503,200
OaSel B, MUE QD =2 g0t SA
THA AR 788,470,00021 14} 788,470 45,270 743,200
2 219,000 35,000 184,000
= 14,200 5,000 9,200
= 555,270 5,270 550,000
OMSXIT TAITHA S/ Abe! 02! 0 240,000 240,000
2 0 190,000 190,000
= 0 10,000 210,000
2 0 40,000 A40,000
ESXT SAY QIFAS 4,457 951 1,542,227 2,915,724
2 2,432,000 92,020 1,509,980
= 486,000 184,404 301,5%
2 1,639,951 435,803 1,104, 148
401 A8 2OHE] 4,457 951 1,542,227 2,915,724
= 2,432,000 922,020 1,509,980
= 486,000 184,404 301,5%
2 1,639,951 435,803 1,104,148
01 Al&tt] 4,446,000 1,536,69% 2,909,306
OFSXT TATA QIR ALY
4,426,000, 000%4%14! 4,426,000 1,516,69% 2,909,306
= 2,420,000 910,020 1,509,980




2A:

S AIRH A4 D

A CAlZe] ¥ OO (BEX XN/ AL Al
el SAITHAANS (SH9 H2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
[ 482,000 180,404 301,596
= 1,524,000 426,270 1,097,730
03 Al 2 0HHI 11,951 5,533 6,418
SSAT TAIMY AIZANE A2 =]
4,426,000,000& *0.27% 11,951 5,533 6,418
F=HEZ N (ALSISX]/F=84) 275,390 198,500 76,890
= 9,500 9,500 0
< 16,530 13,350 3,180
s 249,360 175,650 73,710
SEFNEENA 256,390 179,500 76,890
[ 13,680 10,500 3,180
= 242,710 169,000 73,710
sEEEHIAIY 35,000 35,000 0
< 4,680 10,500 25,820
= 30,320 24,500 5,820
301 LEIEEZ 35,000 35,000 0
< 4,680 10,500 15,820
= 30,320 24,500 5,820
14 JIE2 4= 35,000 35,000 0
OsEUEELI(EN)AIY 24(S20IEX
) 1,000,000& *25& 25,000 25,000 0
< 3,600 7,500 23,900
= 21,400 17,500 3,900
OsZUHEHI(BN)AIY B4 (LEHIS)
2,000,000 +5& 10,000 10,000 0
< 1,080 3,000 21,920
= 8,920 7,000 1,920
Ane BSFE2AL| KJ(01A) 30,000 0 30,000
< 9,000 0 9,000
o 21,000 0 21,000
402 QIEXH=201H 30,000 0 30,000
< 9,000 0 9,000
s 21,000 0 21,000
02 QI EASEX(0IETHR) 30,000 0 30,000
Oarl SSFH 2elXJ(01d)
30,000, 000& » 14 30,000 0 30,000
< 9,000 0 9,000
= 21,000 0 21,000
A BSFE2e| K (KHA) 138,890 92,000 46,890
402 RIZERHE0I1H 138,890 92,000 46,890
01 RIEN AL E X (XM THR) 138,890 92,000 46,890
OanE SSFE AEHEAE
138,890,000 14! 138,890 92,000 46,890
I EMEEH(AMSSX /IS EH) 1,143,300 1,142,900 400




SA: SAITHA D
MM JZMEBH (A EX /I =MEBE)
Selr JZME-S I (St &)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
= 914,200 914,000 200
(= 114,450 114,250 200
= 114,650 114,650 0
IZMESSINE 1,143,300 1,142,900 400
= 914,200 914,000 200
[ 114,450 114,250 200
= 114,650 114,650 0
BIEANX A=K OIAE] KIRAHS 400 0 400
= 200 0 200
[ 200 0 200
301 L2 400 0 400
= 200 0 200
[ 200 0 200
01 AR EEXGIZ2(2REXTHS) 400 0 400
OBIEAHY HF=XE OlAME] XI& AtHI
400,000 % 14| 400 0 400
=2 200 0 200
(= 200 0 200
EXNAS2(ZELXSINL/NHLTAI) 2,861,742 2,881,742 20,000
(= 30,000 15,000 15,000
= 2,831,742 2,866,742 35,000
A=Y 242 2,844,382 2,864,382 A20,000
(= 30,000 15,000 15,000
2 2,814,382 2,849,382 35,000
A= 22| 189,540 209,540 A20,000
[ 30,000 15,000 15,000
= 159,540 194,540 35,000
401 AlZHI L2 H] 170,900 140,900 30,000
[= 30,000 0 30,000
= 140,900 140,900 0
01 Al&ZHI 170,000 140,000 30,000
OJteltts otal==2 ZdAE
130,000,000 14! 130,000 100,000 30,000
(= 30,000 0 30,000
= 100,000 100,000 0
402 RI2EXH=0IA 0 50,000 50,000
[ 0 15,000 A15,000
2 0 35,000 35,000
02 QI XHE AL E (01 FTHS) 0 50,000 50,000
OgI2t Jgig|22al XA (0= 0 50,000 50,000
[= 0 15,000 A15,000
= 0 35,000 35,000
WRAIEIPES(NS/EMN - ZYNK) 4,805,160 4,802,160 3,000




SA: SAITHA D
A WALIBES(US/EY - APUR)
Chel: WSAIEI|BEA EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
WRAIEIEES 4,805,160 4,802,160 3,000
OlHnsER =4 K& 4,805,160 4,802,160 3,000
401 AlEBIYL LY 3,000 0 3,000
01 Al£HI 3,000 0 3,000
Olldu=d s+=3AM 28
3,000,000& %14 3,000 0 3,000
HEES(SAITHAED) (SELXSNL/XALL Al 3,663,019 3,350,000 313,019
BEXE 313,019 0 313,019
=&H BEX3 gHE3 313,019 0 313,019
802 grat= DI E 313,019 0 313,019
01 =NExZerE=z 260,921 0 260,921
O2022E 2HIBxZ T xoH
260,921,000 260,921 0 260,921
02 Al - EHIEE=SEHEZ 52,098 52,098
0202 THIZEZ HHXHH
52,098,000& 52,098 0 52,098




